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Child Psythnlngy & Development, Ped agogy Teaching Learning Process

N O sk R ®) fo firer fofird g
L @)ﬁﬂqﬁﬁmﬁ’lﬁ (D)  Tasre sywamgeRi gr foase fommerdi #
v i ﬁrchxld with special needs should be provided »
 (A) withnormal childrer (B)  throughspecial teaching method
E) mﬁpec‘mT schools (D) by special teachers in special schools
2. UH oo feners Wity i
(A) Toremm fafit o (B) i forer T B
(C) B T 37 =9eR W (D) Fgd
An ideal teacher should concentrate
(A) enteaching methods (B) onthe subject being taught

(€) onthestudentsand their behaviour (D)  onall of these

3 el e W o R e A 2

(A) Tsh SHEHY H Hratd wi B) T
(C) TIEIieh Hes us ara=) @ (A) 3= (B)SH
What do you unﬂﬂrstan{l by the term 'peer group' ?
(A) People of the same profession (B)  Friends c
. (€) Familymembersand Relatives (D) Both(A)and (B)
(A) =hele T[T Sighe (B) oHEE AT
o AL (D} sﬂﬁﬁﬁqﬁ
i 1 i (B) only quantitative
(C} Bﬁmﬁﬂ}ﬁiﬂ (Bj (D) None of the above
@ wem (B) A
() <<t (D) & A B T
Whmsthemundﬂrnfplaywaymeﬂﬂﬂﬂ? e
B) Montesson = .
:Eg fﬁh;lw}, t('D}T’! None of the above ”%
6 T aIcTH F1 Viled @fed 70 HEA E, 30 S 1 e S Whdl ©
(a) froe we (B) gl AT
' (D) T HE T

= (C) ST ST
T S PR TSNS T g —p—




%mﬁﬁmﬁﬁﬁm_mﬁﬁmw%?
() Th YR 67 1 foreert 1 o0 vl 8 et i 3 2

(B) T T¥ry] =1 3o+ YSTISTl 1 T efi & vt i 4ify themar
©) T iy &7 a1 IS ST =t ““ ol hgeRt QT |

(D) 75 & = =

According to Piaget which ofthe following would be an example of a sign ?
(A) A baby watching a ball roll under his crib,

(B) A PE!IJ_}' waving his arms like he was a bird.
(CY A Dby Calling the fumily pot poodle.fa P
(D) None ofthese.

9. HeTEU] % TEEree THET o AIHER Frefifha 8 @S- Fuw s & 0
(A) A= (T S T TALU SToFT- TR 7 ek T} &9 § ey 2
@j- oA 0T YT Bl WY SAfsid 2 & |

(C) =l fs7 a%g 21 921 1 Teaaol 31 &, 36 uiash # Gt &5 5 it 5 et B
STl B |

(D) gﬁa 8 H TSIk 91 (cohesive force) T STeRIYH ¢ (restraining f'nrce}afﬁ‘szfﬁl\—ﬂg EEGE
According to Gestalt theory of perception which statement is wrong ?

(A) Every person perceives objects not ina part but “as a whole™,

(B) Perception is form of ﬂtEMﬁﬂ& |

(C) Ifapersonperceivesan ﬂhJﬂﬂhL then Ehﬂﬂg_& oceurs in the related region of the brajn.

(D) Invision area, both cohesive foree and restraining forces are available,

(A) B (B) Tn
- (©) A B (D) A
Who said “infancy is ideal period of learning "7
(A) Russo (B) Strang
(C) Stanley Hall (R)" - Valentine

1402-B [3] | Tarn Over



(D) None ofthese
(B) =TS T &
(D) EATCHE fershre &
(B) E'U'Ciﬁl development

(B) SIHaTH
(D) .37 T =i 7

(B)  animal
(D}  None of these

iy L[

-r-l AT {B} : =
e is not related to the measure of variability ?
(B) Mode
@), Standand deviation




9] @qumwﬁmaw% ?
(B) Tegmiwan
m} aﬁ@#@?ﬁ

(B)  Dysgraphia
(D) None ofthese

17, 3fs e = w2
 (A) 130 9 sy @) 20110
(©) 71880 D) 70 ¥
-""ih&nmnnimngauﬂ@"
* .ﬁ} More than 130 B) 90-110
(C) 71-80 (D) Lessthan70

18. WRIES o U AT Hoel % gy = 8 § frag gar & ?

" (A) (B) o=

i )‘9@ W‘Fm (D) T A qqfe
Ag to Freud the aggressive hehavmur isrelated to
RO ®) TEI'.ISJGII

19. @wvﬁﬁ%mwwﬁaﬁﬁﬂﬁﬂq 3 T & 39 10T I 3 o= ok o T O
Hreferel & 1 ST o6 © 1 T A9 §—
(A) STafies SXom (B) ST 3
(C) forea gTom (D) STIe a9 STe g
A student is working hard and solving mathematical problems as his father has promised to give him
od marks. This means the student has :
(B) Extrinsic motivation
(D) Intrinsic and Extrinsic motivation

amotorcycle if he gets g0
(A) Intriﬂsm mauvatmn

' 20. @ﬁmﬁaﬁm%ﬁﬂﬁﬁ“ﬁﬁ 1 lflilmﬁ%mwﬁ{ﬁ{quﬁﬂﬁm

. e Wﬁwm%mWQﬁwmmilﬁWﬁ .-..”....",...%l

@ oI Eul (B)/ 5 ST
7 o ©) I s T

s, "l must master problem solving skills in mathematics and become

e m@mm Jam wnrklmha:d " The students has :

sciofivation (B)  extrinsic motivation

2 ' r: wu | . Iﬂﬂtﬂfﬂnﬂﬁ (D] }ﬂghﬂl’mﬂu‘fﬂﬁﬂﬂ

[5]






T 3T 9§ H9 BIl €, PRI ©
(B) W ST

(@) dHfed seTe
vildre whnsemental age 1s lower than their chronological age are called
M Gified Children (B) Normal Children
(C) Leaming Disabled (D) Retarded Children
(B) WIF fa=mm
(DY wrfsien ferwm
' bel (B) anapplied science
{C} annrmatwe science (D) asocial science
28. 'S S9N AR F iy HES ST Y ST o b1 foehra ohe o £ for et 7
(A) BRI B) ey
(C) =S = D) «F3
“Children construct their own understanding through interaction with their en vironment.” Who
Sﬂld thjs'}
(B)  Guilford
(D) Bun

29. ﬁﬁﬂgﬁﬁﬁ%ﬁﬂﬂﬁ@ﬁﬁm@ﬁrmwa@mmm
ﬁ?ﬁ?vﬁwwaﬁaﬁmﬂ@aﬂgﬁw;aﬁﬁwb

@mmﬁm
(B) aqmmw‘
(C) SE9% 3R SfFA1 S b1 W=
(D) 7 1 SEET9 T AHRIH 3R T & Sferan o1 wmm=ieo

A child got pricked by the thorn of a red Rose and got hurt. Later on he/she starfed e
fear tﬂWﬂIdE a rEd dI‘Ebb ﬂ'l‘ any thing red in colour. This is an example of :

(A) Stin
(B) RespattsE ganerﬂhzauon

(C) BothAandB | g
(D) Neither stimulus generalization noraresponse generalization

30 WﬂﬁmﬁmwﬁWﬁ@

Xpressing

(B) &z=d
: @y FeA
'_ ' j ';mﬁmtpsychulngl cal laboratory was emat;l;?t,d{ljz*m"
I ?éi Pritotiorsi (D) Wondt
| | Turn Over
1402-B 171
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Gerneral Awareness & Environ mental Studies

3. ‘R oW &8 79w oy 20

(&) 14 R B) 15 Ry
(C) 16 Ry (D) 17 R

(A) Septemiber 14+ (B) September 15
(D) September 17

%2 o1 ¥ B A 0 TH0 A0 F Towg gy 7
LI '_.' aﬁ“"—‘ﬁgﬁ (B) STRI—SH

D) ¥em™

_I’ﬁZBH *’.ﬂuﬂh country joined UNQ ?

(A) South Sudan (B)  North Sudan

- (€) Korea (D) Bhutan .
33. ﬁ?m (BRICS) &7 Tvf w9 a7 & ?
SIS, B, URa, 9, <RI st
(B) dIvile], 9, AR, ST
(C) e+, W, 9Nd, 99, BT ey
(D) &5 ¥ I T
The full form of 'BRICS'is -
_ (A) Brazil, Russia, India, China, South Africa<”
; {B} Brazil, Russia, India, China, Sudan
(C) Britain, Russia, India, China, South Africa
(D) None of these
4. g a—rzr B g & " & 7
: ®) ORI
'4;{’:3 a%m D) g
'Bi'hmﬂ&ﬂﬂﬂ isrelated to which state ?
~ (A) Assam

(B)  Gujarat

1# I E:J Kerala (D) Punjab
35. G BT RS 9T 99T Heerar 2 7
(A) wrr (B) 4. &I 9.
©) £ & o D) W J PE T8
The Fluid Part of the blood 1§ called
(A) Plasma (B) B.G.C.

(D)

None of these




‘E—%ﬁ‘ﬁ’uﬂd Cup -2014 held in Bangladesh was won by
(B) Australia
(D) Brazl

SRl I ¥ & @7 e faar ?

(B) Y0 0
(D) WRd
"""" 1ch Muntqrgranted women the right to vote ?
o AR SA (B L K,
Lg_: (C‘ﬁ, New Zealand (D) India
38 30 Ho B R et 2 2
. @Fee e B) TR P
TR D) FH A B3 T

(D) Noneofthese

W%ﬂﬁwﬁaﬁé’rzﬁaﬁwwﬁmﬂ a7 form & ?
g ””%;- FTferra (B) WRiraT
i .'.';;’-: o= (D) ﬁﬁ‘,{aﬁ Eﬁ?'l_fq

-

{B] Preamble
(D) Fundamental duties




1

. -n pital of the princely state of
: ,* '_ bt (B) Dadasiba

(D) Nadaun
98] U8 §

B) =Te

(D) T

- e

largest planet of the Solar System ?












sesssseninenn. help the poor.

(B) should
(D) could

(B) -«could

@ ought

(B} shall
(D). will

",

ion No. 65 to 68 ) : Read the following passage carefully. The Passﬂgﬂ,% M/

. R .
iy five answers. Mark the most suitable " o
ANSWEr on your answer sheet. '

Mifﬁ._;:":' hy some questions with four alterna

e

le have long been noted for their delight in markets. Whether that be due to their bargair
nent which makes them enjoy haggling for its own sake, or to their pleasure, in ﬁnhangg
Lto their love of company, the results are remarkable. In a number of places, markets are
ek, and it is not at all uncommon for markets to be attended by a thousand customers.
ace is merely an open space for the purpose of selling food. There are no booths or
he food stuffs are exposed on the bare ground ; and some goods are slung on strings

Most of the market is taken up with agricultural produce ; the variety of this is 4

.5:!'.:' 'EH:; !E'I: i L‘i- h iy "i'-.- ELAM TSI I WILEY 21 17 LM | OIS ]
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Mone r

Unpracticed
(D) BadSpeech

@_3} Unanimous
(D) Famous

‘fﬂt A L!.Iﬂlil. '-."-'-"' s

(B) Antiseptic
(D) Detiol

body.
(B) Unaddressed letter
(D) Wrongly addressed letier



Mote :  (Question No. 75 to 76 ) Choose the correct form of narration ;

75. Give the order. .
(A) Order canbe given® (B) Orderis order
@DT} Let the order be given

S {ﬁ) '%‘mwt‘e is sour by these mangoes (B) Souris tasted by these mangoes
(C) Mangoes are tasted sour /(D)) These mangoes are sour when they are tasted

Note : (Question No. 77 to 80 ) : Choose the correct option ( Verb/Tense) which fits in the given

blanks of each question.
T Neither of the girls ................. quite at her ease.
(&) was (B) were
(C) are (D) none of these
FASERE AN . ................,. before we reach the station.
(A) left (B) hasleft
@ will have left (D) hadlefi
L AT him for a long time.
:(;1"-'!_}) know - (J_E!ﬁ} have known
(C) amknowing (D)  knew
Eﬁ L English for five years,
(A) study (B). arestudying
(C) amstudying (D}‘ have been studying

Note :  (Question No. 81 to 83 ) : Choose suitable option (Artic

le/Determiner) for the blank of each

question,
1. Hereturned after .................... hour.
(A) a (B) one
@) an, (D) noneofthese
82. Heisafoolandhas... . sense,
(A) afew (B) thefew
(©) few: [E;GT little

- i ;



. N r— ] & e —

5. The ailing man is sick ............... this life.
(A) of (B)  with
~ (C) upon (Dy in

® into
(D) upon = N

@uﬁm}n ﬂn. E? tn 9ﬂ ) : Mark the part dffh&jgi@eﬂ ::;.__?;,.,3.:.}:
‘Wﬁi there 1s an crror (of adjective, adverb, clause).

 oral message. Noerrr
(©) (D)



Social Studies
91. TETHM A HF-H e foredt 2

(A) HI-FI-F1 (B) =
) . (D) we=ERE
(A) Fo-Koue-Ki (B) Kamasutra

’ (©) Si-YoKi (D)  Harshcharita

P2, T[T THIST H Wit =t 59 = Sy ey o

(A) fafy B) yfe
Dm‘-ingthe Gupta Period provineces wete CEEI.IE.‘L'f by what name ?
(A) Vithi (B) Bhukii
(C) Sarkar

(D) None of the above

93. ‘ﬁﬁmwﬁfﬁaﬁﬁﬁwmrﬂmm ?

(A) firss (B) IHM
(C) FEAH (D) =H1
In the Vedic Era the coins were known as
(A) Mishak (B) Shatman
(C) Krishman (D) Takka
94, WW%WW%@RW%W@WW% )
-@W%wﬁr (B) W= % WY g,
(C) = FTe o Ty (D) STt & Wy §
From where was the sign of tiger head taken on the coins of India 7
(A) Sarnath Pillar (B)  Sanchi Stupa
(©) Lorea Nandangarh piller (D) Amravati Siupa i
’ 95 m%@ﬂﬁ'ﬁﬁn%ﬁmmgﬁmwm? :
(A) STvEHy T @) Tl sl o o
(©) Hrfergs sy ) (D) =ngfis )
Whom did Ashoka Send for the expansion of Budha Relj glon to Sti Lanka ?
(A) AShWthHSh (B)

Sanghmitra and Mahender
(D) Vasumitra




(B) HHI SRS a9

(O @R DO 3 T 2

| Which countries are the group of “Fourth World™?
(A) Coal producing countries (B) Gold producing countries
(C) Silver producing countries (D) Oil producing countries

e .
07, T S W S SRS e 1 2 FHred we e T 2

) T @ #n
(©) s (D) =78 i e
Where is the permanent head quarter of International court for justice of UNO situated ?
(A) Newyork (B) Hague
(C) Belgrade (D) None ofthese
98, TN SA<Ie I Tea SR Teie el gol a1 ?
O T?IW&'ETI (18) W
(€) sh-ts] (D) SIT9E
Where was the first summit of Non-Aligned movement held ?
(A) Yugoslavia (B) Newvork
(C) Canada (D)  Japan
00 faselt 1 GHEA I 801 HA o AU TSR, STFURY 31K TR § -t S afiEsE
<eé ot 7
(A) TSt =iy aREs @B T BRI
Q'ERER FeR A (D) T & HE T
Which joint project was started by the Gujarat, Andhra Pradesh & Maharashtra to solve the
problem of electricity ?
{ﬁ.‘j Bhakra Dam Pariyojna (B) Yamuna River Pariyojna
(C) Sardar Sarover Pariyojna (D) None ofthese
100, =T | Hieensi o T 1/3 ST o e o wioum geiem | 7 v 2
_ (A) 719 B) 7279
B ©npd (D) 7473
g J.‘ .M}%h_whiﬁhﬂunﬁﬂtuﬂunai amendment, 1/3 (one third) reservation for women in Panchayat, was
(A) Tlst (B) 72nd
(C) 73:1d (D) 74

i402-B 9] | Varn Gvex



art t:lﬁsand clauses are there in the Indian Constitution ?
Articles, 12 ciauseg (B) 390 Articles, 10 clauses
(D) 391 Articles, 10 clauses

(B) 45th
(D) 43th

@ wew
(D) T

ie Krishna Sagar dam situated ?

(B) Karnataka

(D) Ishwar Chandra Vidya Sagar

i f
= - = 5
=T s} .r__ " ] B _,.







ek

BRI <1 Sdre e ar TR T
& 1947 (B) 31 faemsr 1906
11940 () 237 1940

(B) 31 December 1906
(D) 23 March 1940

R GHETHA T Fr<X 98 1 &1 3118 &, 78 v fra 2 4 2
STerT T (D) e e SR

s, “Hindu and Muslim are the two eyes of a beautiful bride” ?

(B) Mohammad Al Jinha

(B)  Al-Biruni

(D) Francois-Bernier

(D) None ofthe above






(D) Saturn and Neptune

' ®) o
| @) o
follow isnota form of precipitation ?
(B)  Hail
(D) Rantall

1. STeAreE

2. rEfomn

3. EfEmi SRl

4. S

(Bj 4-1.'b-5, -4, ﬂ-_'ﬁ;! e-2 u:ﬂ

I--'?"'

{D-J 3.-2, b-3, c-5, d-4, e-1

i %
. Austraha
South Africa



(B) STETE < Tew

,'lq'n. -.F I “:nh .ﬁh-i"- _F_'_I.'.II %

bt P RASI TR~ T
e " "

Mchayat Elections are conducted by

(B) Centre Government
(D) Centre Election Commission

(B) Prime Minister
(D) Preamble of Indian Constitution

(B) 1947
(D) 1950

el iy 1947
- (D) 1950




A) HIS (B) ¥ Il
(D) ¥ T FE T
4 ”H qi‘;ﬂagfaﬂuvnng 1s referred to as the * Yellow Revolution’?
(A) Milk] (B) Fish Production
(D) None of these

(B) a"rmm&w
(D) . 3=

Vho presided over the inau gural meeting of the constituent Assembly of India ?
'Sachldanmlda Sinha (B) B.R. Ambedkar

ajendra Prasad (D)  P.Upendra

T Ra ST Seeh averer & i "ﬁgﬁ
(B) T . eEgsiet
(D) T TeEh
pinet Mission’ to India was headed by i
(B) A.V.Alexander
(D)  Hugh Gaitskell =

| @ -
s Bandipy Naﬁnﬂal Park situated 2

(B) Haryana




.1.'.| ) : . ‘ ;
] -'_ — ‘ﬂ_'i

. l .TEI'F--E'.., o m

Benga] Gazette
(D) TheHindu

B)- 1761 §.

(D) 1789 %.

®) 1761 AD O
D) 1789 AD ' "

A= "——1 0 ﬁ% ﬁ*-a' b-4 E""l dhz
" (D) a3, b1, c4, d-2




(B) Chandragupta i
(D) Kanishka

[B}Wlﬂ-'{
(D) TR

(B) Satvahnas
(D) Sakas

@) 3200000 a1t faai
(D) 3600000 =7 fehamEHT=T




E - = - i = i
X - - _: : " L = . . - -
- - - E i % il
e - ol = L ML an Ko .
i :" L J-'“, EAR T sl ol et ot 2 Ayt .y E i i L -
1 - J21 B ) e ?
i 3 |

@ R
D)
Which of the following rocks is transformed into marble ?
(A) Granite (B) Limestone
o (C) Peat (D) Shale
145, favs 1 G0 TS IS HE-91 € 2
@ wer @) e
(C) T (D) ehclHERI
Which is the world's largest desert ?
(A) Sahara (B) Gobi
(C) Thar (D) Taklamakan

146, Srel GIEYg T Afet S STeR § &1 T iy == sheat 4 ?
(A) ST B) ieTEaH
. ST (12) ey

Whatwas the land donated to temples in chola dynasty called ?
(B) Palhichandam

(A) Shalabhog
(C¥F Tirunamadukkani (D) Brahmadeya
147, 3TEA MWEﬁﬁWWW% ?
L @‘ﬁfﬁqﬁ@ﬁm @) fc s
£ () = 3R 2 (D) F= TE-SE
R mn.eﬁgkhm g1ves information about
‘ - condition: (B) Customsand traditions
[’C} Reh gmn amdPhﬂoﬂﬂlﬂh? (D) Army Records
-;.L




) TS (B)
copounded the principle of Vishishtadvaita ?
hanuja (B) Madhava

(B) et fenTet =Heeen
B (D) TP T
n characteristic of the Indus Valley Civilization was

(D) Puccahouses

T .

s



